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Multiple Choice Questions (MCQs)

CLASS: V

SUBJECT: MATHEMATICS
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Chapter - 1
Place value of 7 in 57930 is

(a) 7000 (b) 700
Successor of 586728932 is

(a) 587628933

The predecessor of 88899025 is
(a) 88899024

Greatest 7-digit number is

(a) 9989999

(b) 586728933
(b) 88889024

(b) 9999999

MMC =

(a) 2100 (b) 2001
LXIX =

(a) 67 (b) 69
XCl =

(@) 99 (b) 101
105 =

(@) cv (b) LV
Which is meaningless

(a)lcc (b) LXX
7000 Lakh =

(a) 70 crores
In 5,87,60,941, 7 stands for :

(b) 7 crores

(a) 7x100 (b) 7x1000

In 13,67,89,542 the digit in the ten lakh place is

(@) 6 (b) 7

Name the place value position of digit 7 in 478123546

(a) ten million (b) million

Write the sum of CMLVI + XLIV as a Hindu Arabic numeral
(a) 1000 (b) 1100

One fifth of a million =

(@) 5lakh (b) 2 lakh

Place value of 5in 73,24,95,008 is
(a) hundreds (b) thousands
Numeral for Eighty thousand seven hundred is

(a) 8700 (b) 80700
Which one is greater?
(a) Cxcl (b) CLXIX

Predecessor of 718, 264, 500 is

(a) 718, 264, 501 (b) 718,264,499
How many five thousands are there is one lakh?
(@) 30 (b) 50

Quotient of place value of 2 by the place value of 1 in 76215 is

(@20 (b) 2

Difference of the two place values of 7s in 4,70,85,790 is
(a) 69,99,300 (b) 68,88,300
Counting by thousand number next to 86,59,317 is

(a) 86,60,317 (b) 86,69,317

XCll =

(a) 94 (b) 92

1180 =

(a) MCLXXX (b) MLCX
Chapter — 2

1234 rounded off to the nearest ten is

(a) 1230 (b) 1200

789,221 rounded off to the nearest ten thousand is

(a) 800,000 (b) 700,000

26 rounded off to the nearest ten is

()30 (b) 20

52967 rounded off to the nearest hundred is

(a) 53000 (b) 52970
15768 rounded off to the nearest thousand is

(a) 16768 (b) 16000
245 rounded of to the nearest tenis

(a) 250 (b) 240

738 rounded of to the nearest hundred is

(a) 800 (b) 700

29351 rounded off to the nearest ten thousand is
(a) 30000 (b) 29000

(c) 70,000

(c) 1000000
(c) 2500
©79

(91

() MV

(c) XIX

(c) 7 crores
(c) 7x1,00,000

©1

(c) hundred thousand

(c) 1124
(c) 1 lakh
(c) lakh

(c) 8070

(c) 718, 263, 401
(c)20

(c)10

(c) 88,88,300

(c) 86,95,317

(c) 102

(c) MXCLXX

(c) 1235
(c) 790,000
(c)10

(c) 53967
(c) 156700
(c) 230

(c) 500

(c) 20000
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2749817 rounded off to the nearest ten thousand

(a) 280000

(b) 2750000

537021 rounded off to the nearest lakh is

(a) 500000

(b) 530000

6384707 rounded off to the nearest lakh is

(a) 6380000

(b) 6480000

8347126 rounded off to the nearest ten lakh is

(a) 8000000

(b) 8300000

5432160 rounded off to the nearest ten lakh is

(a) 5400000

(b) 6000000

6254 rounded off to the nearest hundred is

(a) 6300

(b) 6200

76800 rounded off to the nearest thousand is

(a) 76000

(b) 77000

72893 rounded off to the nearest ten thousand is

(a) 70000

(b) 73000

934783692 rounded off to the nearest crore is

(a) 934000000

(b) 930000000

72883000 rounded off to the nearest crore is

(a) 73000000

(b) 73000000

412 rounded off to the nearest ten is

(a) 420

(b) 410

285 rounded off to the nearest ten is

(a) 290

(b) 280

2856 rounded off to the nearest hundred is

(a) 2800

(b) 2900

870 rounded of to the nearest hundred is

(a) 800

(b) 900

2929 rounded off to nearest thousand

(a) 3000

(b) 2000

7879859 rounded off to the nearest ten thousand is

(a) 7800000

(b) 7880000

5832961 rounded off to the nearest lakh is

(a) 5800000

(b) 5900000

8978083 rounded off to the nearest lakh is

(a) 9000000

2459+0 =
(a) 2459
1734 x
(a) 1734

0+11=

@0

1234 x 1=

(a) 1234

¢ 6) x4 =12

@)+
5792 x
(a) 293

4,15,158 + 10,000 =

(a) 4.15158
1,23,612 + 10
(a) 12361.2

=293 x 5792

(b) 8000000

Chapter — 3

(b)0
(b)0

(b) 11

(b)0

(b)—

(b)0

(b) 415.158

(b) 123.612

Add together 5,15 and 25 and divide the sum by 9

(a) 4

85,70,392 + 74,95,287 =

(a) 1,60,65,679

(b)9

(b) 1,06,65,679

Subtracting ten thousand from one million gives

(a) 99,000
65839 x 627 =
(a) 4,12,80,153

Estimate 2,38,127 +~ 535

(a) 400

38x7

(a) 266

61523 + 38592
(a) >

423 x 392

(a)>

1,83,800 + 769 =

(a) 239, R9

574 x10=

(a) 5740

(b) 9,90,000
(b) 4,12,81,053
(b) 50

(b) 277

(b) <

(b) <

(b) 229, R6

(b) 5704

(c) 2490000
(c) 5370000
(c) 6400000
(c) 8347000
(c) 5000000
(c) 6000

() 80000

(c) 72800

(c) 940000000
(c) 70000000
(c) 400

() 250

(c) 2580

(c) 700

(c) 4300

(c) 790000
(c) 5820000

() 890000

©+
©1

(c) 41.5158

(c) 12.3612
©5

(c) 1,66,05,679
(c) 90,000

(c) 4,12,80,153
(c)40

(c) 285

(c) 239, R5

(c) 574
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549 x 1,00,000 =

(a) 54900
13x7=7x

(a) 13

4,15,158 + 10,000 =
(a) 214

2754 x 8039 = 8039 x
(a) 2754

695 x 30 =

(a) 20085
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(b) 54900000
(b) 7
(b) 214 x 100
(b) 8039

(b) 20850

Number 1200 more than 5,76,83,104

(a) 5,76,95,104
82754380 — 10817593 =
(a) 4,26,24,147
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(a) 2 hours

Simplest form of 24—0 is
1

@<

Reciprocal of 1% =
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(a) Proper fraction
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(a) unit fraction
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(a) unlike fraction

(b) 5,67,95,104
(b) 4,24,26,24147

Chapter — 4
(b) 6 months

(b) 10 second

(b) 1 hour
(b)=
(b)=

(b) Improper fraction

(b) improper fraction

28

()55

25

(b) 12

(b) =

[y
o

(b)

NI

(b)

W=

(b) <

(b)

[e-R I

(b)

AW

(b)
(b) 0
(b) =
(b)4
(b) 25
(b)F

(b) like fraction

(c) 540900
(c)14

(c) 21400

(c) 21085
(c) 57684304

(c) 71936787

(c) 4 month
(c) 1 minute

(c) 4 hours
©
©=

(c) Unit fraction

©=

©=

(c)12

()8

©=
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Question 1)

Question 2)
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23

3
(@) 4 )
Simplest form of 3 is
3
@3
1+22 =2
2

@<

26-3x5+4=
(a) 20
5+5+6x%x6=
(a) 37
8x8-6x%x8=
(a) 28
8-0+5=
(a) 10

15+ 3x 7+ 14 -3 x (1+5)

(a) 31

(3t4) x5=
(a) 40
9+(6-3)=
(a)3

(12+4) +3
(a) 6

(8+7) = (3+2)
(@) 5
7+(10-3) =
(@)0
20-18+9%x3+4=
(a) 18

(a) 20
[(28+7)+3] x5=
(a) 40

(28 +7) +(3%x5) =
(a) 19
9+12+3-2
(a) 12

(9+12) = (3-2) =
(a7
9+18x0-7
(a7
25+5-16+8
(a) 4
8-30+6+7
(a) 20

(a) 18.09
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(b) 5

(b)2

(b)
Chapter -5

(b) 17
(b) 35
(b) 16
(b) 12
(b) 21
(b) 35
(b) 9

(b) 12
(b)3

(b)1

(b)

O | =

(b)

Nel o)

(b) 0

(b) 9

(b)

w N

(b)0
(b)7
(b) 25
(b) 25
(b) 29
(b) 11
(b) 6
(b) 2
(b3

(b) 10
Chapter — 6

(b) 0.8

(b) 0.002

(b) 18.9

(0)15
(0) 27
(c) 38
()8
()4
(0) 25
(c)6
(0)15
(©)5
(©)2

(c) 19

(c)19
(€2

©7

©
(©4
(c)20
(c) 55
(c)35
(©0
(c)13
(©)21
©5
©5

©5

(c)8.0
(c) 0.0002

(c) 18.99
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400+20+5+> + —— =
10

1000

(a) 425.037 (b) 425.307 (c) 4205.37
153

E et

(a) 1.53 (b) 15.3 (c) 153
3

Z =

(@) 0.75 (b) 0.5 (c)0.25
7

% et

(@) 0.35 (b) 0.53 (c)0.7
19

5 et

(a) 0.038 (b) 3.8 (c)0.38
0.8=

4 8
@< (b) 75 © 5
5.62[]5.26
(@)> (b) <
0.6 [10.006
(@> (b) <
159+10
(a) 159 (b) 1.59 (c) 15.09
1+1000
(a) 0.001 (b) 0.01 (c)0.1
2 +1000
(a) 0.02 (b) 0.002 (c)0.2
In 5.809, the digit 9 is in the place
(a) ones (b) tenths (c) thousandths
Z written as decimal is
(@ 0.3 (b) 0.375 (c)3.8
In 7.867, the digit 6 is in the place.

(a) ones (b) tenths (c) hundredths
Write in decimal form 14 %

(a) 14.7 (b) 1.47 (c) 147
Express 0.05 as a fraction —

5 5 5
@ (b) 75 ©) 7o
4.83x1000 =
(a) 4830 (b) 48.3 (c) 483
2.4+100=
(a) 0.24 (b) 0.024 (c) 0.0024
700 + 60 + 0.08 + 0.005 =
(a) 760.085 (b) 76.850 (c) 7.6850
212 22

1000
(a) 212.62 (b) 212.062 (c) 21.262
69
10000
(a) 0.069 (b) 0.0069 (c)0.69
Zero point zero four two
(a) 0.42 (b) 0.042 (c)4.2
Chapter — 7
1 is prime number
(a) True (b) False
Which of the following does not divide 36307
(@5 (b) 11 (©)9
Which of these are co-prime
(a) 16,18 (b) 11,48 (c) 8,23
(a (i) b (iii) band ¢
The factor of a number is less than or equal to that number.
(a) True (b) False
2 is a prime number
(a) True (b) False
3is afactor of 36
(a) True (b) False
The HCF of two numbers is 9. Which one can’t be their LCM?
(@) 54 (b) 36 (c) 48
The LCM of two number is 84. Which one of the following can’t be their HCF.
(@8 (b) 6 ()21
HCF of two numbers is 6 and their LCM is 432. If one of the number is 48, the other number is
(@) 54 (b) 42 (c) 27
HCF of 6 and 12 is
(@3 (b) 6 (c) 12
LCMof 3,4and5is
(@30 (b) 60 (c)20
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918573 can be divisible by 3

(a) True (b) False

LCM of 4, 6 and 8 is

(a) 24 (b) 12 (c) 36

Prime number between 51 to 55 is

(a) 53 (b) 54 (c) 52

How many prime numbers are there between 1 and 100.

(a) 24 (b) 25 (c) 30

5695 is divisible by

(a) 4 (b) 2 (c)5

12345 is divisible by —

(a) 4 (b) 2 (c)3

3isa number

(a) Prime number (b) Composite number

HCF of 190, 171 and 152 is

(a) 18 (b) 19 (c) 20

The LCM of two co- prime number is 176. If one number is 16, find the other number.
(a) 33 (b) 22 (c)11

The HCF of two numbers is 6 and their LCM is 144. If one of the numbers is 36, the other
is

(a) 24 (b) 25 (c) 26
4,6,8,9,10,12 are

(a) composite numbers (b) prime numbers (c) even numbers
3,7,9,11,13 are

(a) even numbers (b) odd numbers

HCF of co-prime no. is always

@1 (b) 2 (c)3

Smallest multiple of number is the
(a) number itself (b) O (c)11
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